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(vii) Y97 T&IT 21, 22 (Y77 &) 9T Y97 &I 33 (YT @) FH-3HT YHRI 3 97 & |
Jeq%h o7 4 37H FT 5 |
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g | 39% I97 6 37H] HT 3 |

(ix) ¥¥7-97 & GO fasheq 781 1397 797 & | FEf, 99% 97 & F g9 § ke Fhey
HT FIT 3T T 8 |

U &
(| wat qut wfEEl & e ST

1. (@) offlu, 3 9 75 T BH U WIHER I TAT 4 : 3 : 3 % I H
AY-BT T foueH o & | 1 310, 2023 & 9 A4 ol SUS-SsT
Fqurd H fauifiia s @ weAd gU | v fa9eH Sdd § aiedd %

SR 3T I JIATH AT T EAT 1
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General Instructions :

Read the following instructions carefully and follow them :

(i)
(it)
(iii)
(iv)

(v)

(vi)

(vii)

(viii)

(ix)

This question paper contains 34 questions. All questions are compulsory.

This question paper is divided into two parts — Part A and Part B.

Part A is compulsory for all candidates.

Part B has two options. Candidates have to attempt only one of the given
options.

Option I1: Analysis of Financial Statements

Option II : Computerised Accounting

Questions number 1 to 16 (Part A) and Questions number 27 to 30 (Part B) are
multiple choice questions. Each question carries 1 mark.

Questions number 17 to 20 (Part A) and Questions number 31 and 32 (Part B)
are short answer type questions. Each question carries 3 marks.

Questions number 21, 22 (Part A) and Question number 33 (Part B) are Long
answer type-I questions. Each question carries 4 marks.

Questions number 23 to 26 (Part A) and Question number 34 (Part B) are Long
answer type-II questions. Each question carries 6 marks.

There is no overall choice. However, an internal choice has been provided in few
questions in each of the parts.

PART A

(Accounting for Partnership Firms and Companies)

) Bhim, Arjun and Nakul were partners in a firm sharing profits
and losses in the ratio of 4 : 3 : 3. With effect from 15t April, 2023,
they agreed to share profits equally. Due to change in the profit

sharing ratio, Arjun’s gain or sacrifice will be : 1

(A)  Sacrifice —
30
.1
(B) Gain —
30
(C) Sacrifice i
15
(D) Gain 1
15

OR
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(i) % qAT HG FAM: T 2,00,000 TAT T 1,50,000 FHI YSit h T TH B
¥ gEer ¥ | 319, 2023 H guTd g 9¥ # Al wd w1 fa oy
T 17,500 7, A 10% aTeh g T ITeh! Uit T A BT
(A) Hs T 15,000; Hiq T 20,000
(B) & T 8,750; HIq T 8,750
(C) Hs T 20,000; Hiq T 15,000
(D) & T 10,000; Hiq T 7,500

2. TH B4 o [du9ed o 099 PO IRGEAT T 6,00,000 qAT SR I
T 2,40,000 off | ¥fe whwwafai ¥ T 7,20,000 K €A g8 qA T 8,000

A AT T T TR T, T SEC W AT AT 7 B
(A) B F 1,20,000 (B) & T 1,20,000
(C) B T 1,12,000 (D) & T 1,12,000

3. BT (A): & GIEHl 1 foeed giaT B, a1 <Inerd 1 g5aad T8l gl |
FRU(R):  wreierd) w1 foeed "l & s sae wedfd g g @ |

frafafaa 4 9 g fawew &1 991 Hifsw

(A) AU (A) TAT HRO (R) SHT T&l & a7 SR (R) fyeped (A) Hi
TEl AT 7 |

(B)  3THA (A) T HRUT (R) ST TE &, ifehd HRUT (R) MDA (A) H
e AT TR |

(C)  HAMHYA (A) TIeTd &, Afehd HROT (R) WEl 2 |
(D) 3T (A) T ], aifehd SR (R) Terd ® |

4. () IR/ T/ IS R
(A)  379/3RR Sh 1 g 9 @ et gra feifia foem mn @
(B) 379I/30R Sht 1 a8 ufy foes fom wrefl storement /et

S ATEde | 3ATele feu MY E |
(C) W/ IS i g8 Afeshan ufy @ fffia &@ gq e
3rferepd 2 |
(D) AW /SRR gRT ardfass 9 § WA i TS T |
3T
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(ii1) Neeru and Meetu are partners in a firm with capitals of ¥ 2,00,000
and ¥ 1,50,000 respectively. If the firm earned a profit of ¥ 17,500
for the year ended 315t March, 2023, then interest on capital
@ 10% p.a. would be : 1

(A)  Neeru T 15,000; Meetu T 20,000
(B) Neeru T 8,750; Meetu T 8,750
(C) Neeru T 20,000; Meetu T 15,000
(D) Neeru T 10,000; Meetu T 7,500

2. At the time of dissolution of a firm, the total assets were ¥ 6,00,000 and
outside liabilities were ¥ 2,40,000. If assets realised ¥ 7,20,000 and
realisation expenses of ¥ 8,000 were paid, the profit or loss on realisation

will be : 1
(A) Loss T 1,20,000 (B)  Profit ¥ 1,20,000
(C) Loss T 1,12,000 (D) Profit ¥ 1,12,000

3. Assertion (A): The court does not intervene when dissolution of

partnership takes place.

Reason (R): Dissolution of partnership takes place by mutual
agreement between the partners.
Choose the correct option from the following : 1

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is
the correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is
not the correct explanation of Assertion (A).

(C) Assertion (A) is incorrect, but Reason (R) is correct.
(D)  Assertion (A) is correct, but Reason (R) is incorrect.

4, i) Nominal/Authorised share capital is : 1
(A) that part of the share capital which is issued by the company.
(B) the amount of share capital which is actually applied for by

the prospective shareholders.

(C) the maximum amount of share capital which a company is

authorised to issue.
(D)  the amount actually paid by the shareholders.
OR
67/2/3-12 Page 5 of 39 P.T.O.
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(i1)

(ii)

TH RO ST hrat bl afEmfoel ® e fofime gy 9= i,
FHEA @ :

(A) T RO

(B)  3Wi¥a oA

(C) 3 U T R
(D) N o

foheTit 3T et Ush H o |ISIGR & 91 4 : 3% 1A H TH-ETH 1
oo 0 & | 7o e F o % fore el o e %
w1 H yay fear mn | R o fawa 4 folw forn o6 9 wiosy o
AT STe-se 37U 8 faumfad i | fereit 3R fomer &1 @
FAATA B

A 1:1 B) 4:3
(C) 11:3 (D) 3:11

AT

TS, g 3R 1 T ®H § ARER B 99 2 : 2 ;1 % U™
T - 1 faueq otd 8 | 91 B AW % 9T % ®9 9 gfa o
JEA T 40,000 HT T S TS | 39 FHRO g3 fohel ot FH TS FA
a4 foham ST | 31 W, 2023 1 GHT B o9 99 H Ife BH ol
AW T 1,60,000 B, A TS §RT T8 hl A areft HHt grft

(A) T 8,000 (B) ¥ 40,000

(C) T 48,000 (D) T 4,000

6. wenmn fudfiees 3 Sk fafiees &t = 15,00,000 1 wimafei aun
T 2,00,000 T AT 1 AR T 12,60,000 % TEAT I oI T T |
I HEHId g3 T hd oA 1 YA T 100 TAh o 11% FROHHAT i 10% T
T fifera sees foman S | fnifia sromas B g gl

(A)
(&)
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13,000 (B) 12,600
10,000 (D) 14,000
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(i)  The debentures which do not have a specific charge on the assets of
the company are called : 1
(A) Redeemable Debentures
(B)  Unsecured Debentures
(C)  Zero Coupon Rate Debentures
(D)  Non-Convertible Debentures

5. ) Kishore and Bimal are partners in a firm sharing profits and
losses in the ratio of 4 : 3. Nand is admitted as a new partner in
the firm for % th share in the profits. Kishore and Bimal decide to

share profits and losses equally in the future. The sacrificing ratio

of Kishore and Bimal will be : 1
A 1:1 B) 4:3
(C) 11:3 (D) 3:11

OR

(i1))  Raju, Sohan and Tina are partners in a firm sharing profits and
losses in the ratio of 2 : 2 : 1. Tina is guaranteed a minimum

amount of ¥ 40,000 as share of profit every year. Any deficiency

arising on that account shall be borne by Raju. If profit of the firm
for the year ended 315* March, 2023 is ¥ 1,60,000, Raju will bear a

deficiency of : 1
(A) T 8,000 (B) < 40,000
(C) < 48,000 (D) < 4,000

6. Maharaja Ltd. took over assets of ¥ 15,00,000 and liabilities of
< 2,00,000 of Dolphin Ltd. for an agreed purchase consideration of
% 12,60,000. It was agreed that the purchase consideration will be paid
by issuing 11% Debentures of ¥ 100 each at 10% discount. The number of

debentures issued will be : 1
(A) 13,000 (B) 12,600
(C) 10,000 (D) 14,000
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10.

e fafies 3 T 100 IF F 6,000, 8% Fo9Ei i Frima = 96 fa =woras
T TRaT | 8% 9T @WId | ST B :

(A) ¥ 5,76,000 (B) ¥ 24,000

(C) ¥ 6,00,000 (D) < 60,000

(i)  9Ifc T 100 % Tk I/ T B (forfeit) H foram o & T W = 70
ST YA fohaT S T 7, A 38 fohad =dad ge W qA: Fifia feram

Hohdl @ ?
(A) ¥ 100 B) T30
(C) =T170 (D) ¥ 130

HIAT

(i) 9IfC T 10 % Th /AT T B (forfeit) T foram mm 2 5@ = 2 ufa
731 /IRR iftem it fohem o o qen o w = 8 (Sfiftem afza)
T TT I qAT IR /IR I T 6 (Nt wfga) w1 g e
off, Tl S791/3RR S @It 19 8
(A) T109 (B) <44
(C) T 897 D) <64

1 3799, 2022 =1 7 fAfiee 3 100 I8 % 30,000, 10% OIS <1 0
10% 92 W Tpa1 | 31 9/, 2023 & TG B ot 99 H SR W <F SIS

I FoT T B
(A) T 2,70,000 (B) ¥ 3,00,000
(C) T 27,000 (D) < 30,000

qE 3R TR Th ®H § HEER &, T IS AT A T 1,20,000
T 80,000 & | TS I BH & wrelt @i | % AT & foTU Ush U @T3eR & &9 °
you feom T | w9 1o G5t %6 ' H T 1,00,000 ART | 9 h YA W HH
<1 @fa gl -

(A) < 5,00,000

(B) < 2,00,000

©) < 3,00,000

(D) = 1,00,000
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10.
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Misha Ltd. issued 6,000, 8% Debentures of ¥ 100 each at ¥ 96 per
debenture. 8% Debentures Account will be credited by :

(A) < 5,76,000 (B) ¥ 24,000
(C) < 6,00,000 (D) ¥ 60,000

) If a share of ¥ 100 on which ¥ 70 has been paid is forfeited, then

at which minimum price can it be re-issued ?

(A) ¥ 100 (B) < 30
(C) T 70 (D) < 130
OR

(i1)) If a share of ¥ 10 issued at a premium of ¥ 2 per share, on which
T 8 (including premium) has been called and < 6 (including
premium) has been paid by the shareholder, is forfeited, then
Share Capital Account will be debited with :

(A) T 10 (B) <4
(C) T8 D) <6

On 18t April, 2022, Mega Ltd. issued 30,000, 10% Debentures of
T 100 each at a discount of 10%. The total amount of interest due on
debentures for the year ending 315t March, 2023 will be :

(A) T 2,770,000 (B) < 3,00,000

(C) T 27,000 (D) < 30,000

Manas and Ranvir are partners in a firm having capital balances of
T 1,20,000 and ¥ 80,000 respectively. Sanju is admitted as a new
partner in the firm for %th share in future profits. Sanju brought
% 1,00,000 as his capital. The goodwill of the firm on Sanju’s admission
will be :

(A) T 5,00,000

(B) < 2,00,000

(C) ¥ 3,00,000

(D) T 1,00,000
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11.  =fe wrEenl % ¢St @ sl 8, d Frefafaa § @ - ge % o gEieri
% USit @l H gl TohAT ST ?
(A) AW
(B)  dSit T 3@
(©) fafed deit e
(D) YSft 1 IR Ay

12.  37¥%27 (A) : Th ATSQR ®H H T ATSIGR Jo™ T YSi shi Teh HgAd UM G
T g 9§ AT 8 |

FRU(R):  Ueh ATICH BH H T AICR Y9 W ARICRT ®H <l afEmfa=i
qAT AT | VT o BT STRIHR TZ0T Ll B |

Trafaiga & 9 92t fasrew =1 =74 il

(A) SRR (A) TUT RO (R) A1 F&l @ 9T SR (R) MR (A)
TE AT 7 |

(B)  3fehem (A) AUT SR (R) HI TE &, WA HROT (R) 31162 (A)
e ST 7T 7 |

(C) R (A) Teid &, Wik Il (R) HeEl 2 |
(D) AR (A) T &, Wl HRT (R) T4 & |

18. () 1 SHadl, 2023 %I T HEER 310WNs 3 ®BH Sl T 3,00,000 51 AT
o T | areier TWeia 1 orufedfa ¥ 31 A, 2023 I AU B

CISECLCA G Rt s Ry N

(A) ¥ 18,000

(B) ¥ 4,500

(C) ¥ 9,000

(D) I3 & &l feam smem

AT
(i)  Ife I GTHER e fomTdl % o7=d § Uk fAfvaa aidn o1 S1Ew

2, AMABOR_ TEHI o T AT THIRG FeRaT SO |
1

A 9 (B) 7§
1

) 6 (D) 45
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11.  Which of the following items cannot be recorded in the capital account of
partners if the capital accounts of partners are fixed ? 1

(A) Drawings

(B)  Withdrawal of capital

(C)  Introduction of additional capital
(D)  Opening balance of capital

12. Assertion (A): In a partnership firm, at the time of admission, the new
partner brings in an agreed amount of capital either in
cash or in kind.

Reason (R): In a partnership firm, at the time of admission, the new
partner acquires the right to share the assets and the
profits of the partnership firm.

Choose the correct option from the following : 1

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is
the correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is
not the correct explanation of Assertion (A).

(C) Assertion (A) is incorrect, but Reason (R) is correct.

(D)  Assertion (A) is correct, but Reason (R) is incorrect.

13. (1) On 15t January, 2023, Abhishek, a partner, advanced a loan
of ¥ 3,00,000 to the firm. In the absence of a partnership
agreement, the amount of interest on the loan for the year ending

315t March, 2023 will be : 1
(A) T 18,000
(B) < 4,500
(C) < 9,000
(D) No interest will be provided
OR
(i1)  If a partner withdraws a fixed amount at the end of each quarter,
interest on drawings will be charged for months. 1
A 9 ® 7=
2
© 6 ®) 45
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el #ieqi4e [9fa &1 9T a9 3ad &1 T3 a1 & 3R T 597 G&IT 14 97
15 & 3 s |
fodsh w9 MeM TH WH W ARGR 9 A 3:2 % AWM H AH-FIH
H foueHE wA 9 | 1 3T, 2022 HI IAH G HAM: T 8,00,000 A
T 4,00,000 off | 1 S, 2022 H fo@E T 2,00,000 FH Affer IS @R

a9 & SH fades o1 3ME T 40,000 AT, Sfeh 1M T AW T 80,000 T |

TR dusid % SER, ISt W 6% A1fie @ & A foun Swm | SATe w
5% AT¥eh g H SIS YHTNG foham ST | 31 W6, 2023 i T BH ot 9y
% T 3¢ @ st TR T 6,50,000 o |

14. T < 18w = B qisn g

(A) T 2,000 (B) T 1,000

(C) T 4,000 (D) T 4,800
15. fode i ¢ ISt T = 8T

(A) T 48,000 (B) ¥ 60,000

(C) T 57,000 (D) T 24,000

16. TS AT 9 TIIER 8 AT 2 : 1% UG § ATN-gIH 1 fars= oad & | =aq
N TF U GEER F T H o F i i % ot we femn T S sEd a1
TAT 9T § SO LI H IIed foham | ST, S a1 A I =1 A

ECISERCE IR IR
(A) 13:5:6 (B) 13:2:1
(C) 2:13:5 (D) 1:1:1

17. (%) Wi, are qon fafen vw w4 § dEER O a9 3:2:1 % UM H
A T fawSE R ¥ | 31 ", 2023 H R ®H H HaTHIA &l
T | =R SR fafen 3 felw fon fe 78 wd it G = 6,30,000 B |
Farigr = fafer 1 = i fafmn o & @ aeft gemEsE % 9weEr
U T 4,35,000 AT T 1,89,000 T SHT AT 3N @ I | AHERT gRT
BH T TS AW aTelt TG hl Aredfaeh TR AT Ira TAH sl S aTel!
FIE TR 6t T IR | ATavas st gfafeeat ot s |

HAAT
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Read the following hypothetical situation and answer Questions No. 14 and 15

on the basis of the given information.

Vivek and Nisha were partners in a firm sharing profits and losses in the
ratio of 3 : 2. On 15t April, 2022, their capitals were ¥ 8,00,000 and
T 4,00,000 respectively. On 15t July, 2022, Vivek introduced additional
capital of ¥ 2,00,000. During the year, Vivek’s drawings were I 40,000
while drawings of Nisha were ¥ 80,000. As per the partnership
agreement, interest on capital is allowed @ 6% p.a., interest on
drawings will be charged @ 5% p.a. The net profit for the year ended
315t March, 2023 amounted to ¥ 6,50,000.

14. The amount of interest on drawings of Nisha would be : 1
(A) T 2,000 (B) < 1,000
(C) < 4,000 (D) < 4,800

15. Interest on capital payable to Vivek will be : 1
(A) T 48,000 (B) < 60,000
(C) T 57,000 (D) T 24,000

16. Ashu and Basu are partners sharing profits and losses in the ratio of
2 : 1. Chetan is admitted as a new partner with Lth share in the profits

which he acquires equally from Ashu and Basu. The new profit sharing

ratio between Ashu, Basu and Chetan will be : 1
(A) 13:5:6 B) 13:2:1
(C) 2:13:5 D) 1:1:1

17. (a) Prateek, Charu and Sirima were partners in a firm sharing
profits in the ratio of 3:2:1. Prateek retired from the firm on
315t March, 2023. Charu and Sirima decided that the capital of the
new firm will be ¥ 6,30,000. The capital accounts of Charu and
Sirima after all adjustments on the date of retirement showed a
credit balance of ¥ 4,35,000 and ¥ 1,89,000 respectively. Calculate
the amount of actual cash to be brought into the firm or to be paid
to the partners. Also pass necessary journal entries. 3

OR
67/2/3-12 Page 13 of 39 P.T.O.
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(@) =m9, 999 YT AT TH BH H HEER 9 A1 3:2:1 % U H
AY-ET BT faueH a9 | 3/ ol Ui a9 39h o9 & 9T & ®9 §
=AW T 60,000 T T G TTE off |
31 HME, 2023 %I AT BH d1 99 % fO¢ g @9 hHI TR
¥ 1,20,000 ot |
HH ol Edehl H HTSGRI o s AH-faHSH gRIid g STawdeh UsHmE
yferfsest shifsrg |

18. WY, TS, 3T adT Y= Th ®H § HEER & qAqT 3:2:4:1 % I H
AT 1 TS d 9 | 1 319d, 2023 8 3787 ATH-ETH ol S-SR
U H died o1 fvi foren | Sem feufa foemor = 1,00,000 &1 d= 9=
T T@T A1 | BH i TN T ek T 20,00,000 fopam = |
A TIuTeH 1guTd | qfiEd o ROl IUYTH o Toll Taweh UeHE=l Jfafeea

HINT | 3794 R Bl TIear H 03T |

19. (&) Thfa fafies 3 e fafies & = 5,40,000 6 afemfat qen £ 1,20,000
S AT T FRTET T 5,28,000 o T ToI T Topam | Hfd fefires
el TR 1 I Teh <eh GRIT QT I TRT T PIAA T 100 TS
10% ZRT9AT sl 10% Siftrem w fifirg sees foran |

Sudth el & forg fify fofiees S geael # etavaes Ustamen gfafeeat
i |

HAAT

(@) urq faifiee 9 = 100 I&F & 4,000, 11% FOMAT I T 50 Ffd o9
e ® Frifid w0 % fg smaed smba ey | o it @1 gmam
JEEH W QT A1 | 5,000 091 % fefq HTee 91 8T | 1,000 RO
% 3MEE hI T B A T qUT HEed U am W @ | WA
JATSICeh! hl SRUTTAT ST 3Tee L feam T |
g1g TAfHeE sl Tl § ITYH THGH! o [oTT STTETIHh TeHTH=T Ffafeear

HIfT |
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(b) Chaman, Burman and Aman were partners in a firm sharing
profits and losses in the ratio of 3:2:1. Aman was guaranteed a
minimum amount of ¥ 60,000 as his share of profit every year.

The net profit for the year ended 315t March, 2023 amounted to

T 1,20,000.

Pass necessary journal entries in the books of the firm showing the
distribution of profit amongst the partners. 3

18. Madhu, Raj, Atul and Prachi were partners in a firm sharing profit and
losses in the ratio of 3:2:4:1. With effect from 15t April, 2023, they
decided to share profits and losses equally. Their Balance Sheet showed a
General Reserve of ¥ 1,00,000. The goodwill of the firm was valued at
¥ 20,00,000.

Pass necessary journal entries for the above on account of change in the
profit sharing ratio. Show your working clearly. 3

19. (a) Priti Ltd. purchased assets worth ¥ 5,40,000 and took over
liabilities of ¥ 1,20,000 of Payal Ltd. for a purchase consideration
of ¥ 5,28,000. Priti Ltd. paid half the amount by cheque and the
balance was settled by issuing 10% Debentures of ¥ 100 each at a

premium of 10%.

Pass necessary journal entries for the above transactions in the
books of Priti Ltd. 3

OR

(b)  Dhatu Ltd. invited applications for issuing 4,000, 11% Debentures
of ¥ 100 each at a premium of ¥ 50 per debenture. Full amount
was payable on application. Applications were received for
5,000 debentures. Applications for 1,000 debentures were rejected
and application money was refunded. Debentures were allotted to
the remaining applicants.
Pass necessary journal entries for the above transactions in the
books of Dhatu Ltd. 3
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20.

21.

1 313, 2023 I HIEE qAT AR h1 BH Hl T&deh T 9,00,000 hH1 FHEEIR=T
ol @ off fem = 82,000 e dAT T 1,68,000 1 Sk A Gfferd o1 |
TISER o Yol WA T 6,00,000 T AT T @ & R ehl 6T TRT &1 @<
o | Afg AT hT T TThA G 8% & A BH hi BTN I HedTeh TNl
% 5 dul & I & IMYX W T 4,00,000 HI1 T 8, @ BH o G ATl bl

3Ta hIfT |

arfefd, T ud awl v ®H § AeigR off au1 3 :2:5 % UM W Y-FIH I
fourem st off | 31 #2028 1 3T et oo 7 TR & o

31 9T, 2023 Wi AT, L & aut o1 Teafd feawo

S T . T
T T
gt BECE| 6,00,000
arfefa 5,00,000 i 3,00,000
T 4,00,000 i 1,00,000
agt 3,00,000 | 12,00,000 | ¥¢=zq 1,50,000
M = 1,00,000 | TTER 2,50,000
TTER 2,00,000 | UhS 1,00,000
15,00,000 15,00,000

31 I8, 2023 1 91 H Gcg &1 T8 | Foret HTEER i gog W AHERT GwEd

# 1 1 yraY o

() Yt W= 6% anfies g & feam smem |

(i) H H T A oA U 9fa aul & |d i 6 3 9Nl o
& STER W fpan s, St T 90,000 & |

(i) gg I T T 9 U B F a9k 9T H TUET TR o STUR
W OH G | 31 W, 2023 H GHIG BH G d¥ I oA

T 60,00,000 T AT 1 31, 2023 & 31 JeI18, 2023 % T 15,00,000
oT | 319, 2023 ! UG g aTel a9 I &9 T 12,00,000 o |

Ul o IAUTHTIT I T L oh 7T IuI T ISt @Il IR T |
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20. On 15t April, 2023, the books of the firm of Kashish and Sagar showed
assets of ¥ 9,00,000 including cash of ¥ 32,000 and bank balance of
T 1,68,000. The partners’ capital accounts showed a balance of
< 6,00,000 and reserves constituted the rest. If the normal rate of return
is 8% and the goodwill of the firm is valued at ¥ 4,00,000 at 5 years
purchase of super profits, find the average profits of the firm. 3

21. Aditi, Renu and Varsha were partners in a firm sharing profits and losses
in the ratio of 3 : 2 : 5. On 315t March, 2023 their Balance Sheet was as

under :
Balance Sheet of Aditi, Renu and Varsha as at 315t March, 2023

Liabilities Am;“nt Assets Am;“nt
Capitals : Buildings 6,00,000
Aditi 5,00,000 Machinery 3,00,000
Renu 4,00,000 Stock 1,00,000
Varsha 3,00,000 | 12,00,000 | Patents 1,50,000
General Reserve 1,00,000 | Debtors 2,50,000
Creditors 2,00,000 | Cash 1,00,000
15,00,000 15,00,000

Varsha died on 315t July, 2023. The partnership deed provided for the
following, on the death of a partner :

) Interest on capital was to be provided @ 6% p.a.

(i1)  Goodwill of the firm was to be valued at 3 years purchase of
average profits of the previous five years which were ¥ 90,000.

(iii) Varsha’s share of profit or loss till the date of death was to
be calculated on the basis of sales. Sales for the year ended
315t March, 2023 amounted to ¥ 60,00,000 and that from
18t April, 2023 to 315t July, 2023 amounted to ¥ 15,00,000. The
profit for the year ended 315 March, 2023 was ¥ 12,00,000.

Prepare Varsha’s Capital Account to be rendered to her executors. 4
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22.

23.

24.

3R 3R fafies T 8,00,000 i 31ferpd Yoit o &1 USieha off, ST T 10 T&h
% 80,000 THar SN /I A fowrfoa off | et 9 SaT | 40,000 THAT
3T /3T o foTu, e seatfad fop | o ofer /3R Tftt f weer & o oft
A W - T5
JATET W - T3
oW U AfH I=AT W~ A9
fln gl w9 @ sifiea genm qen |ft g TRMT ured R Al T kA € H
JATETEd 2,000 3T/ H BIght B T ATeA qAqT Ire-T THT T8 et |

HOHT SAfUfEW, 2013 i SFATE 111, 9FT 1 o SFTTER HFot o feafa faaor &

379 /IR Gt €OIST | 3ok foTw ‘@i o Aed’ ot qam hifv |

frafafgq @edt & forw ot & frime @ srewEes Ueemen faftest

i

(i) Heal fafie 3 T 100 9% & 10,000, 11% FOTGHT &1 fF7HT 10% 2
R fopa, foment sem 5% hiftrem w feran Smom |

(i) gfea fafies 9 T 100 &% & 20,000, 9% FOHAI HI FHT 5%
Hiftrem o fora, fSept w109 Rftem 9w foman smam |

(iii) gl g 9 T 100 T&F % 30,000, 8% UG 1 FHIHH T T
Topa, e snew 5% hifiem @ foman st |

Mt TR |t hl "rger) B & foees w fafie gt (s @ o6 39 5

M) AT SRl AT hl T G H TAFTARA i o 9T HHTeTRad

AT o TTT 3TavTes U= gfafsedt shif -

(i) M 9 oFERi % T 40,000 % T  f9U qui fae™ & €4 § T 34,000
ST YA R |

(i)  9ml J 319 gl % T 80,000 % VT o PTAH % fTT TEgAld & |

(iii) T YUHT TR o N8 Y& ¥ U1 €9 ¥ faiRga &L fegam mm
o | F§ AN oAl T R 3EHE T 3,000 < wgelt Bl | 58 et 4
ITTHA qed & 20% v T o o |
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22.

23.

24.
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RR Ltd. was registered with an authorised capital of ¥ 8,00,000 divided
into 80,000 equity shares of ¥ 10 each. The company offered to the public
for subscription 40,000 equity shares. The amount per share was payable

as follows :
On Application - <5
On Allotment - T3
On first and final call — Balance

The issue was fully subscribed and all amounts due were received except

the allotment and call money on 2,000 shares allotted to Seema.

Present the Share Capital in the Balance Sheet of the company as per
Schedule III, Part I of the Companies Act, 2013. Also prepare ‘Notes to

Accounts’ for the same.

Pass necessary journal entries for issue of debentures for the following
transactions :

(1) Suhavo Ltd. issued 10,000, 11% Debentures of ¥ 100 each at a

discount of 10%, redeemable at a premium of 5%.

(i1) Mudit Ltd. issued 20,000, 9% Debentures of ¥ 100 each at a
premium of 5%, redeemable at a premium of 10%.

(iii) Sudip Ltd. issued 30,000, 8% Debentures of ¥ 100 each at par,

redeemable at a premium of 5%.

Pass the necessary journal entries for the following transactions on the

dissolution of the partnership firm of Sharma and Verma after the

various assets (other than cash and bank balance) and outside liabilities

have been transferred to Realisation Account :

1) Sharma paid creditors ¥ 34,000 in full setllement of their claim of
T 40,000.

(i1))  Verma agreed to pay his wife’s loan of ¥ 80,000.

(iii) There was an old typewriter which had been written off completely
from the books. It was estimated to realise ¥ 3,000. It was taken

away by Verma at the estimated price less 20%.




(iv) T QU AT i A, T8k T 1,500 % @Td &I 7Td a9 gad R o &9
H faiRaa st feam T o1, 3§ TRT o 80% T YA L fea |

(v) ¥ 8,000 °h forered == =1 Ya™ Il gRT foham T |

(vi) ¥ 40,000 i IEA HI T 1 W qA1 G0 o S 3Ah A9 fA9H
IUTa 3 : 2 F faafa =t feom mm |

25. (%) HS qA U Tk BH H FEGR ¥ AT 3:2 % AT H AH-FH H
fouTe &t 9 | 31 W, 2023 1 3T el foewor 7 TR & o

31 WTH, 2023 Thi W] AT W] o1 Terfa forawon

. Tfyr . i

A - gigrafoat -

IS LRERCRENIEH 80,000
g5 1,40,000 RN 1,32,000
TS 1,20,000| 2,60,000 | faf=m 60,000

= G 40,000 | TER 76,000

TTER 1,80,000 | =12 — Gfeer skom

& fu g@a™ 4,000 72,000
S H Uhs 1,36,000
4,80,000 4,80,000

1 387, 2023 F T F o w3 ferw Freferfiaa 7t 0 e A

T warr feam e

i) WA T T 6,000 1 eIGE T ST |

(i)  faf=mm =1 qere T 72,000 fopam m |

(iii) %a:@wsﬁqﬁaﬁéﬁamﬁﬁaﬁmﬁwwﬁﬁ
|

(iv) 3¢ Auifaes sl aur @fa i & o Wi & &9 §
¥ 10,000 HITE AT |

IR GTAT a1 |ISeRl < Yoil @I dar I |

HIAT
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(v)
(vi)

25. (a)

67/2/3-12

Neelu, an old customer whose account for ¥ 1,500 was written off

as bad debt in the previous year, paid 80% of the amount.

Dissolution expenses amounting to ¥ 8,000 were paid by Sharma.

Loss on realisation ¥ 40,000 was to be distributed between

Sharma and Verma in their profit sharing ratio 3 : 2.

Sanju and Manju were partners in a firm sharing profits and
losses in the ratio of 3 : 2. Their Balance Sheet on 315t March, 2023

was as follows :

Balance Sheet of Sanju and Manju as at 315t March, 2023

Liabilities Amount | 4 ccets Amount
Capitals : Plant and Machinery 80,000
Sanju 1,40,000 Furniture 1,32,000
Manju 1,20,000| 2,60,000 | Investments 60,000
General Reserve 40,000 | Debtors 76,000
. Less : Provision
Creditors 1,80,000 | ¢ doubtful debts 4,000 72,000
Cash at Bank 1,36,000
4,80,000 4,80,000

On 15t April, 2023, Uday was admitted into the firm for ith share

in profits on the following terms :

) Furniture was to be depreciated by I 6,000.

(i1)

(iii)

their profit sharing ratio.

(iv)

Investments were valued at ¥ 72,000.

share of goodwill premium in cash.

Plant and Machinery was taken over by Sanju and Manju in

Uday will bring in proportionate capital and ¥ 10,000 as his

Prepare Revaluation Account and Partners’ Capital Accounts.

OR
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(@) W, a3 I AW TH BH § AIHER o TAT 5 : 3 : 29k G H ATH-FIH 1
fawTsH td 9 | ol S o SR I 31 A, 2023 1 ®H G HaTHId
B | 5 fatyr o wH o feufa foemor o a9 e

31 WTH, 2023 i I, T qAT TRT 1 et foramon

T T

g Tl gt 1,20,000

fa 80,000 ieh 1,60,000

@ 1,24,000 ESCL 2,00,000

o 66,000| 2,70,000 | TEIEY ThS 80,000
ATH T FIH 1,70,000
e wiosy 3ty 20,000
TR 1,00,000

5,60,000 5,60,000

(i)  oFel § T 4,000 H Tsh T Giriterd oft, fSgept e &1 fomam
ST |

(i) oTerl W |y skl o fo1u 5% 1 Sraa™ foram s |

(iii) H I TR T e T 1,60,000 foham T |

(iv) Tl S &1 qed T 5,000 3Teh 9 T |

(iv) T 9T 9N % HLF 2 : 3 % T AH-fI9TSH I R Fghhd g8 |

(vi) T @ Tl 35k KW @Id § gEAraia S |

Ty 1 Aagha W gcaTeR @TaT qe |eieil < 9o @ R HI | 6
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Ravi, Tanu and Sara were partners in a firm sharing profits and

losses in the ratio of 5 : 3 : 2. Ravi retired from the firm due to his

illness on 315t March, 2023. The Balance Sheet of the firm on that

date was as follows :

Balance Sheet of Ravi, Tanu and Sara as at 315t March, 2023

Liabilities Amount | gcets Amount
Capitals : Fixed Assets 1,20,000
Ravi 80,000 Stock 1,60,000
Tanu 1,24,000 Debtors 2,00,000
Sara 66,000 | 2,70,000|Cash in hand 80,000
Profit and Loss 1,70,000
Employees’ Provident Fund 20,000
Creditors 1,00,000
5,60,000 5,60,000

Additional Information :

i) Creditors included a sum of ¥ 4,000 which was not likely to

be claimed.

(i1) A provision of 5% for doubtful debts was to be created on

debtors.

(111)) Goodwill of the firm was valued at ¥ 1,60,000.

(iv) Fixed Assets were found overvalued by ¥ 5,000.

(v)  New profit sharing ratio of Tanu and Sara was agreed at 2 : 3.

(vi) The amount due to Ravi was transferred to his loan account.

Prepare Revaluation Account and Partners’ Capital Accounts on

Ravi’s retirement.
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26. ()
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ffefan feufaat o arr /Rl < &1 3R 3k qA: i 61 saws

WWW

(i) %WrR fafies 7 T 100 9% & 8,000 3M/ITG w1 =
10% Siftrem o it fopam mam o, T 40 fa wr/3=r Ghiftem
gfgd) <l 3Teed TR 91 T 30 i 3797/ hl U/ JrEAT 6
PTAM A A W, FOT K o | T 20 ufa 3mw1/37r & fgefla v
JAfam grer anft a6 Anf TE TS oft | S ¥ 6,000 39N /IR
I T 70 Ui 3F9/3IRW, T 80 Yed W YA: Frifera = feam mam |

(i) Hiftrr fafies 7 T 10 T@% & 3,000 /[ HT BT R
foren 59 @ = 3 ufa o791/3RR 61 U Fr=ET 1 T T8 e
T 3R T 2 gfd 3w/ Hi fgdiw wa Afam s onfi 9=
Tl 7 wE off | 3 ¥ 2,000 3 /IAAL i AT B T 12 T
/IR, T 8 Yed W YA: Frifra =t fezm mam |

HAAT

S fefies 3 T 10 939% & 40,000 330 /J=/ H T 2 I AAM/IW/ &
Hiftem w frifya @ & fu stee smfa fee | ufy e ger @ 2
off

e W — T 4Yfd 37/INM
AT W — < 5 9fd 37w/ (Sfiftem afzad)
W ITEET T — T 2Yfd 37/INM

fedie v S1fqq I W - oW

60,000 37=11 /3 % foTQ JTergd W gY | 12,000 AT/ < g
STl bl T T TeAT 7T T 3ATcehl shl ITeh! TN IT9E HL & T8 |
48,000 3730/ o 3MMegehl sl AUIAh IR W 3TN /IR[ H1
AATEeH R Team a7 | 3Teed W U 3fieh TR 1 FHEISH 37T W
0 it & = femm T |

Tt TSI /ARRGREDT 3 TR & YAE w1, Had T
FAER /IR B BgR [ER 1,200 30/ & foiw 3maed feam
AT | TS & qLd o1G IHeh 3T /AL T ELT L T T | 35h &1
TUH IrEAT /AN TS qeT g <F U T & T | T e stfaw e
a1eft ook At &} TS oft |

St feafiee s gedent | ST TG oh fOIT TTawdeh Uem=n Sfafeeat

HIfT |
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(a)

(b)
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Pass necessary journal entries for forfeiture and reissue of shares

in the following cases : 6

(1) Star Ltd. forfeited 8,000 shares of ¥ 100 each issued at
10% premium for non-payment of allotment money of ¥ 40
per share (including premium) and first call of ¥ 30 per
share. The second and final call of ¥ 20 per share was not
yet called. Out of these, 6,000 shares were reissued at ¥ 80
paid up for ¥ 70 per share.

(11))  Premier Ltd. forfeited 3,000 shares of ¥ 10 each on which
the first call of ¥ 3 per share was not received and the
second and final call of ¥ 2 per share was not yet called. Out
of these, 2,000 shares were reissued to Gita at ¥ 8 paid up
for ¥ 12 per share.

OR
Zee Ltd. invited applications for issuing 40,000 shares of ¥ 10 each

at a premium of ¥ 2 per share. The amount was payable as follows :

On Application — T 4 per share
On Allotment — T 5 per share (including premium)
On First call — T 2 per share

On Second and Final call — Balance

Applications were received for 60,000 shares. Applications for
12,000 shares were rejected and money returned to the applicants.

The shares were allotted on pro-rata basis to the applicants of
48,000 shares. The excess money received on application was
adjusted towards sums due on allotment.

All shareholders paid the allotment money except one shareholder
who had applied for 1,200 shares. His shares were forfeited
immediately after allotment. First call was made thereafter and all
the money due was received. The second and final call was not yet
made.

Pass necessary journal entries for the above transactions in the
books of Zee Ltd. 6
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(Ter<frar feramott =1 fergeimoD)

27. ISR eSS % 3T 1 AUET HH & T T 5,00,000 1 A TR
3R AR & 1 T 30,000 T ATHIN I fohaT |” 39 THC 1 INOMH AT ¢ 1
(A) focfta nifafafern & = 4,70,000 T 1 afeals
(B) Traw wfafaferni & = 4,70,000 Thg 1 3T=<aig
() Tocfia nfafafRrn @ = 4,70,000 Tehe =1 A<TE
(D) Traw wfafafert & = 4,70,000 Twg 1 sfgats

28. (i) HYTI: T o FEA 1 GROMH Uehs T JT=AdiE BT |
FoT 1] : Tasharati 1 W0 a1 & Sed RU9Al o i w1 gfony

g 1 Ffeaig g |
frafafga & 9 92t fasres =1 === il 1
(A) T A TE & |

(B) <Ml Y Teld @ |
(C) Y 198 2 91 HY 11 7Td 2 |
(D) 5T 1T @ 9T HIF [ Fal 2 |

rera
(i)  ‘Tosha-ama gfafaet =1 T1g T T Thg a8 fIator T &1 J9E 81 2 1
(A)  HIE IWE T

(B) Toxita nfafafern @ sfaats
(©) Trom wiafafrn @ afears
(D) Tocita niafafemi @ afeaie

67/2/3-12 Page 26 of 39




PART B
OPTION -1
(Analysis of Financial Statements)

27. ‘Paid ¥ 5,00,000 to acquire shares in Neligare Industries and received a

dividend of ¥ 30,000 after acquisition.” This transaction will result in :

(A)
(B)
(&)
(D)

28. (@)

(ii)

67/2/3-12

Cash outflow from financing activities ¥ 4,70,000
Cash inflow from investing activities ¥ 4,70,000
Cash inflow from financing activities ¥ 4,70,000
Cash outflow from investing activities ¥ 4,70,000

Statement I : Issue of Debentures will result in inflow of cash.
Statement Il : Issue of Debentures to the vendors for purchase of
machinery will result in outflow of cash.
Choose the correct option from the following : 1
(A) Both statements are correct.
(B) Both statements are incorrect.
(C)  Statement I is correct and Statement II is incorrect.
(D) Statement I is incorrect and Statement II is correct.
OR
What will be effect of ‘Purchase of Marketable Securities for Cash’
on Cash Flow Statement ? 1
(A)  No effect
(B)  Inflow from financing activities
(C)  Outflow from investing activities
(D)  Outflow from financing activities
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29. YR fARE F1 =) oM@ 2: 17 | Fffgd # 9 fhd TiHed & aiomTeasy
Ig ITITT M ?
(A) TFERI I T 40,000 T TAH
(B) WieR o1 foshd (T&T god T 38,000) hadd T 16,000 |
(C) ¥ 7,00,000 % SEHA ol T LTI
(D) TIeri ¥ ¥ 1,18,000 TG Thi=d FhT

30. () T=fafea § @ s T faawon & foagawn’ =1 e 32w 787 © 2
(A)  HH sl IdH TS Td J=Tel HREHdT 1 9dT T |

B) wH 6l foxfim fafa & fofier doesi & anfas ggw =1 fHurom
HET |

(C) FeI-ERT qiEdH & I9TE 1 &H | W@ |
(D) ®H 6 arvvedr /o fufa § seame & wron i gg=me v

GG

(ii) I IS 3T o A | ot 1 A 8
(A)  <Te] U
(B) @& U@

(C) Hhd T LU
(D) YT ST

31. el SrfafEm, 2013 ST 1L, 9T 13 AR fefofea aef ot e
% feufy foewo 4 ger sfivei e susfidei (afe =€ &) & srla afied
FHifu
i) e
(i) a3
(i) ~ 3Tqq ATH
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29.

30.

31.

Current Ratio of Super Ltd. is 2 : 1. Which of the following transactions

will result in decrease in this ratio ? 1
(A) Payment of ¥ 40,000 to creditors

(B)  Sale of furniture (book value ¥ 38,000) for ¥ 16,000 only

(C) Repayment of long term loan of ¥ 7,00,000

(D) Cash collected from debtors T 1,18,000

) Which of the following is not an objective of ‘Analysis of Financial

Statements’ ? 1

(A) To assess the current profitability and operational efficiency
of the firm.

(B) To ascertain the relative importance of different components
of the financial position of the firm.

(C)  To consider the impact of price level changes.

(D) To identify the reasons for change in the profitability/financial
position of the firm.

OR

(i) is also known as Acid-Test Ratio. 1
(A)  Current Ratio
(B)  Quick Ratio
(C)  Gross profit Ratio
(D)  Operating Ratio
Classify the following items under major heads and sub-heads (if any) in

the Balance Sheet of the company as per Schedule III, Part I of the
Companies Act, 2013 : 3

(1) Livestock

(1) Accrued incomes

(iii) Unpaid dividend
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32. Tr=fciiaa =1 9 ‘Ga A9 ATUTA h! TUMET HINT

-
T | 3T 10,00,000
E® 3,00,000
3T WISl 60,000
ELC] 1,18,000
Eiauw 9 <) 40,000
EIRRCIRE 20,000
LERY 50,000
33. (%) WHfaRad =1 § 31 9=, 2023 3l T g aTcd G9 oh (7T I
A 9 g e aar hifse .
2022 —23 | 2021 -22
foraon
(%) (%)
T 8 3T 4,00,000 2,00,000
I AN 80,000 40,000
FHUIR Y I — T 8
AT BT 50%
L 50%
T

(@) Ffafgd g=1 & 31 "=, 2023 &1 G0 8H a1 99 o foIq <Ot
Tafiee =1 “am= R @y e B faerer’ dur hifw

r— 202(2? ; 23 202(1? ; 22
e § 3 40,00,000 | 20,00,000
IR AT 61 63 4,00,000 | 2,00,000
I = 40,000 20,000
R 50%
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Employee benefit expenses — 50%

of Revenue from operations

Tax rate 50%

32. From the following information calculate ‘Gross Profit Ratio’ : 3
<
Revenue from operations 10,00,000
Purchases 3,00,000
Carriage inwards 60,000
Salaries 1,18,000
Decrease in inventory 40,000
Returns outwards 20,000
Wages 50,000
33. (a) From the following information, prepare Comparative Statement
of Profit and Loss for the year ended 315 March, 2023 : 4
Particulars 2022 — 23 | 2021 — 22
icu
(%) (%)
Revenue from operations 4,00,000 | 2,00,000
Other income 80,000 40,000

OR

Prepare a ‘Common Size Statement of Profit and Loss’ of Neurosci
Ltd. for the year ended 315 March, 2023 from the following

information :
Particulars 202(2_;5 23 202(1_;5 22
Revenue from operations 40,00,000 | 20,00,000
Purchase of stock in trade 4,00,000 2,00,000
Other expenses 40,000 20,000
Tax rate 50%
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34. 319m, 2023 % Fu fafies & Fefateaa Rufa faewor 8 serem afafafee
Y Uehg JaT8 <hl TUHT hIFVT :

31 |, 2023 ! [y fefree =t feafa feemon

r— :ﬁz 31.3.2023 31.3.2022
9. () (%)
I - |HAT T gFaTU
1. Wywes/IRuRs i
(%)  o791/3R doft 6,00,000 5,50,000
(@) d=g wa i 1 1,50,000 1,00,000
2. 379 AW
(%) ehe 38R 2 1,20,000 85,000
3. =T eFdrg
(%) A o 89,500 1,02,000
(@) AUkl JTa9H 3 25,000 38,500
K3 9,84,500 8,75,500
II - ufErafy
1. IS gNEEEt
() Tl ufmrafaat /awat,
THTE AT HIAF qAT I
T .
@ gﬁm/ I, 4 5,35,000 4,25,000
(ii) 3Td TREF T 5 20,000 56,000
2. 9Te uiEraiEt
(%) e faw 1,20,000 75,000
(@) e 64,500 60,500
(7) AT YT 85,000 71,500
("F) Uhg T Thg oo 1,60,000 1,87,500
K3 9,84,500 8,75,500
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34. From the following Balance Sheet of Nishant Ltd. as at 315 March, 2023,

calculate ‘Cash Flows From Operating Activities’.
Balance Sheet of Nishant Ltd. as at 315t March, 2023
Particulars Note | 31.3.2023 | 31.3.2022
No. (%) (%)
I - Equity and Liabilities :
1. Shareholders’ Funds
(a) Share Capital 6,00,000 5,50,000
(b) Reserves and Surplus 1 1,50,000 1,00,000
2. Non-Current Liabilities
(a) Long-term Borrowings 2 1,20,000 85,000
3. Current Liabilities
(a) Trade Payables 89,500 1,02,000
(b) Short-term Provisions 3 25,000 38,500
Total 9,84,500 8,75,500
IT - Assets :
1. Non-Current Assets
(a) Fixed Assets/Property, Plant
and Equipment and Intangible
Assets
O Tt st | 4| szsom| s
(i1) Intangible Assets 5 20,000 56,000
2. Current Assets
(a) Current Investments 1,20,000 75,000
(b) Inventories 64,500 60,500
(¢c) Trade Receivables 85,000 71,500
(d) Cash and Cash
Equivalents 1,60,000 1,87,500
Total 9,84,500 8,75,500
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Grdl & 7129 :
qre 31.3.2023 | 31.3.2022
9. e T T
1 | 999 U i
arferRr aterfa aTa-ET e % 9 1,50,000 1,00,000
1,50,000 1,00,000
2 | dreeRTelia 3R
10% FTa 1,20,000 85,000
1,20,000 85,000
3 | USRI JagH
EIRICDIC 25,000 38,500
25,000 38,500
4 | o ufEEafEr /awt, e 9o g9
BENIEE) 6,35,000 5,00,000
T — TR HeAgTE (1,00,000) (75,000)
5,35,000 4,25,000
5 | 3Td gt
It 20,000 56,000
20,000 56,000
S7fars =T

() A0 % Uk W W, SEehl @ < 12,000 off 3T S W = 8,000
%1 ThId qeIg™ o1, T 3,000 T o= feam m |

(i)  10% FOA W T 8,500 o TS HT YIAM fehaT TT |
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Notes to Accounts :

Note Particulars 31.3.2023 31.3.2022
No. (%) (%)
1 | Reserves and Surplus
il;(l;f};iu: ni(.leL]::Slance in Statement of 1,50,000 1,00,000
1,50,000 1,00,000
2 | Long-term Borrowings
10% Debentures 1,20,000 85,000
1,20,000 85,000
3 | Short-term Provisions
Provision for Tax 25,000 38,500
25,000 38,500
4 | Tangible Assets/Property, Plant and
Equipment
Machinery 6,35,000 5,00,000
Less : Accumulated Depreciation (1,00,000) (75,000)
5,35,000 4,25,000
5 | Intangible Assets
Goodwill 20,000 56,000
20,000 56,000
Additional Information :
) A piece of machinery costing ¥ 12,000 on which accumulated
depreciation was ¥ 8,000 was sold for ¥ 3,000.
(i1)  Interest paid on 10% Debentures amounted to ¥ 8,500.
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I G
faemea - 11
(erfirenfers SraTe)

27. ST 3MTehel ohl TohEl ST 31Tehel | ol i <hl UfhAT HEAT 7 :

(A)  JAThEST Tehallehl]
(B)  3lehgl o
(C)  3lehgl deftentum
(D)  3AThsi I fhoet HE
28. (i) fr=fafigd 9 9 & ts g2 & ®9 § T A9’ hl AT ;
(A) TH oiig =R R fawqa foao v feafa saman 2 |
(B) T W ATiRgd SAfhTd go shi 3T Hehd ohidl & |
(C) = % i SAfneT ae 3 AR 1 forega foramor <ar 2 |
(D) =T & T Tk JAUHTHS TTET 2 |
HAAT
(i) e dlfcheh T H fohaH dTfcheh Hodl ol Sfarse foRaT ST Heha © 2
(A) 525
(B) 552
(C) 255
(D) 15
29. 3Tihg, oM , qAT GiFea=R TR T i@l adf o Uid
& g
T TR T o -8 T ITYH HUH ¥ I @ ?
(A)  wishad Td BT (B) T ud wify,
(C) HI3H U S&haig (D) 9= W@ @
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27. The process of comparing input data with some unknown data is called :
(A) Data storage
(B) Data entry
(C)  Data validation
(D)  Data filter
28. () From the following, identify a ‘Data label’ as a chart element : 1
(A)  Details and positions a legend on the chart.
(B) Indicates the individual value plotted on the chart.
(C)  Details the data value and categories below the chart.
(D)  Is a descriptive text for the chart.
OR
(i1) How many logical values can be entered into a logical function ? 1
(A) 525
(B) 552
(C) 255
(D) 15
29. ‘Data, people , and software are five pillars of a
Computerised Accounting System (CAS)’.
Which of the pillars of CAS are missing from the statement ?

(A)
(&)

67/2/3-12

PART B
OPTION -11
(Computerised Accounting)

Procedures and Hardware (B) Printer and CPU

Mouse and Desktop (D) Information and Accounts
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30.

31.

32.

33.

34.

(i)  IGThd =1 JUel! o TR Td ST @Td 39aa (HfaRad | § fhaeh
1Y SAER LA & ?
(A) S I I Mt T PTaH &
(B) fosha @rames ©@ Wt 1 oi’@T i T 39 WE@@E 4

(C) IcdTiea Swq3T <l AN qal TH €

(D) <FERI % YTaH U9 5
HAAT
(i) T 7 99 (Null Value) T o= I3 Bt & 51 SfaHfae &L & ¢
(A)  FiheT HE HI Thel I 1
(B) Toft= 9oy & @iy we &t
(C)  3ffeher Hel i el 6
(D) TP (1) de3 i

I & RN hl g H w1 JA B 2 98 fohg geR TR S Hehdr @ 2
HHATIU |

RIS @R JUTTet! shi foheal <1 EHIST T Ieer@ HIfT |
(%) THETHT Tk § FAT AT & 2 5ok STLRYA =0 hl T SHRT |

HAAT

(@) T BHERT F1 R ? T fou T ST I B I & oI fop wmemt
AT TR ST 2

T & T3 Texfie W SHAN Sfad qo FIHe1 ¢ H1 JAR Hd §¢ TH (If) HE
1 G L oh XU I [ARGY &l F 3™ =l =T AfG T 10,000 T 37feh
g, @ 10% s=d 31 Ife 3 T 10,000 & A g, A 5% s=d | UNOMH o
Te-fo=rmE w1 ot fafau |
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30.

31.

32.

33.

34.

1) ‘Sales and Accounts Receivable Sub-system’ of Accounting

Information System deals with which of the following ?

(A)  Receipt and payment of cash sub-system

(B)  Recording and maintaining the sales ledger and receivables
(C)  Ascertaining cost of goods produced

(D)  Purchase and payment to creditors
OR

(i1) A Null value is a special value which represents :
(A)  Single value data item
(B) Item with many values
(C)  Absence of data items
(D)  Stored value

What is meant by ‘resizing of chart’ ? How can it be done ? Explain.

State any three limitations of Computerised Accounting System.

(a)  What is meant by Accounting Cycle ? List its basic phases.
OR

(b)  What is ‘data formatting’ ? What tools are used to format a given

data ?

Write the steps to create ‘If” function using formula tab and dialogue box
on a given spreadsheet where the total income less expenses if greater
than ¥ 10,000 then 10% savings and if income is less than ¥ 10,000 then

5% savings. Also write the syntax of the result.
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Senior School Certificate Examination, 2024
ACCOUNTANCY (055)

PAPER CODE: 67/2/3

General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct assessment of the
candidates. A small mistake in evaluation may lead to serious problems which may affect the future of
the candidates, education system and teaching profession. To avoid mistakes, it is requested that before
starting evaluation, you must read and understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to public in any
manner could lead to derailment of the examination system and affect the life and future of
millions of candidates. Sharing this policy/document to anyone, publishing in any magazine and
printing in News Paper/Website etc may invite action under various rules of the Board and
IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done
according to one’s own interpretation or any other consideration. Marking Scheme should be strictly
adhered to and religiously followed. However, while evaluating, answers which are based on latest
information or knowledge and/or are innovative, they may be assessed for their correctness
otherwise and due marks be awarded to them.

The Marking scheme carries only suggested value points for the answers. These are in the nature of
Guidelines only and do not constitute the complete answer. The students can have their own
expression and if the expression is correct, the due marks should be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each evaluator on the
first day, to ensure that evaluation has been carried out as per the instructions given in the Marking
Scheme. If there is any variation, the same should be zero after deliberation and discussion. The
remaining answer books meant for evaluation shall be given only after ensuring that there is no
significant variation in the marking of individual evaluators.

Evaluators will mark (V) wherever answer is correct. For wrong answer CROSS X’ be marked.
Evaluators will not put right (v) while evaluating which gives an impression that answer is correct
and no marks are awarded. This is most common mistake which evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks awarded for
different parts of the question should then be totalled up and written in the left-hand margin and
encircled. This may be followed strictly.

8

If a question does not have any parts, marks must be awarded in the left-hand margin and encircled.
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This may also be followed strictly.

9 If a student has attempted an extra question, answer to the question deserving more marks should be
retained and the other answer scored out with a note “Extra Question”.

10 | No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

11 | A full scale of 80 marks as given in question paper has to be used. Please do not hesitate to award full
marks if the answer deserves it.

12 | Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every day
and evaluate 20 answer books per day in main subjects and 25 answer books per day in other subjects
(Details are given in Spot Guidelines).

13 | Ensure that you do not make the following common types of errors committed by the Examiner in the
past: -

e Leaving answer or part thereof unassessed in an answer book.

e Giving more marks for an answer than assigned to it.

e Wrong totalling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title page.

e \Wrong question wise totalling on the title page.

e Wrong totalling of marks of the two columns on the title page.

e Wrong grand total.

e Marks in words and figures not tallying/not same.

e Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly
and clearly indicated. It should merely be a line. Same is with the X for incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14 | While evaluating the answer books if the answer is found to be totally incorrect, it should be marked as
cross (X) and awarded zero (0) Marks.

15 | Any unassessed portion, non-carrying over of marks to the title page, or totalling error detected by the
candidate shall damage the prestige of all the personnel engaged in the evaluation work as also of the
Board. Hence, in order to uphold the prestige of all concerned, it is again reiterated that the instructions
be followed meticulously and judiciously.

16 | The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot
Evaluation” before starting the actual evaluation.

17 | Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title
page, correctly totalled and written in figures and words.

18 | The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the
prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are once again
reminded that they must ensure that evaluation is carried out strictly as per value points for each
answer as given in the Marking Scheme.
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MARKING SCHEME
Senior Secondary School Examination 2024

ACCOUNTANCY (Subject Code-055)
[Paper Code: 67/2/3]

Maximum Marks: 80

PART -A
(ACCOUNTING FOR PARTNERSHIP FIRMS AND COMPANIES)

Q. No. EXPECTED ANSWER /VALUE POINTS Marks
1 Q. (i) Bhim, Arjun and Nakul were.............ccccceovrninnnnnns
Ans. (B) Gain 1/30 1 mark
OR OR
Q.(ii) Neeru and Meetu are partners.....................
1 k
Ans. (D) Neeru 210,000; Meetu 27,500 mar
2 Q. At the time of dissolution of a firm.........cccccocvvvviiiinene.
Ans. (D) Profit Z1,12,000 1 mark
3 Q. Assertion(A): The court does not intervene...........cccoceevvereeeeenne.
Ans. (A) Both Assertion (A) and Reason (R) are correct, and Reason (R) is correct «
explanation of Assertion (A) 1 mar
4 Q. (i) Nominal/ Authorized share capital...............ccccceevenenne.
Ans. (C) the maximum amount of share capital which a company is authorised to issue. 1 mark
OR
Q. (i) The debentures which do not............c.cccceveiininnne 1 mark
Ans. (B) Unsecured Debentures
5 Q. (i) Kishore and Bimal are partners..........cc.ccooceveneiencnenencnnnns
Ans. (C) 11:3 1 mark
OR OR
Q. (i) Raju, Sohan and Tina are partners............ccocooverenenene e
1 mark

Ans. (A) 8,000
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6 Q. Maharaja Ltd. took over assets...........cccoeveveervernnnne

Ans. (D) 14,000 1 mark
7 Q. Misha Ltd. issued 6,000...........cccccveviriviierieinnnnn,

Ans. (C) 26,00,000 1 mark
8 Q. (i) If ashare of 100 on WhicCh.........cccccveiiiiiiececre

Ans. (B) 230 1 mark

OR OR
Q. (ii) Ifashare of L0 issued at @........ccceeeevveieiieciecieseenn,
1 mark

Ans. (D)6
9 Q. On 1%t April 2022, Mega Ltd. issued..........ccccocecvrvrrerrinerennne.

Ans. (B) 23,00,000 1 mark
10 Q. Manas and Ranvir are partners...........c.ccoceeeeeeee

Ans. (B) 22,00,000 1 mark
11 Q. Which of the following items.........c...ccccccevenie

Ans. (A) Drawings 1 mark
12 Q. Assertion(A): In a partnership firm, atthe..............ccocooneee

Ans. (A) Both Assertion (A) and Reason (R) are correct, and Reason (R) is correct 1 mark

explanation of Assertion (A)
13 Q. (i) On 1t January 2023, Abhishek..........cccccccovvvreivrnrnrnnne,

Ans. (B) 24,500 1 mark

Q.(ii) If a partner withdraws a fixed .....................

Ans. (D) 4 % 1 mark

Read the following hypothetical situation..............c.ccccovvveiieennnns
14 Q. The amount of interest on drawings............ccccecvevuvennen.

Ans. (A) 22,000 1 mark
15 Q. Interest on capital payable to...........ccccooveiiieiieiiicin,

1 mark

Ans. (C) 357,000
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16 Q. Ashu and Basu are partners...........c.cccocu.....
Ans. (A) 13:5:6 1 mark
17 Q. (a) Prateek, Charu and Sirima were partnersina firm............ccccoceene.
Ans.
Calculation of amount of cash to be brought into the firm or to be paid to the partners: 1
Charu Sirima
New capital 2/3 X 6,30,000 1/3 X 6,30,000
(26,30,000 in new ratio 2:1) = 4,20,000 = 2,10,000
Adjusted capital %4,35,000 %1,89,000
Paid 215,000 Brought 221,000
Books of Prateek, Charu and Sirima
Journal
Date Particulars L.F | Dr. Amount | Cr. Amount
4 4
2023 Cash Alc Dr. 21,000 1
March 31 To Sirima’s Capital A/c 21,000
(Cash brought in by Sirima on
retirement of Prateek)
2023 Charu’s Capital A/c Dr. 15,000 1
March 31 To Cash Alc 15,000
(Cash paid to Charu on retirement of
Prateek)
=3 marks
OR OR
Q. (b) Chaman, Burman and Aman Were.......c.ceeeeeeeesecnnns
Ans.
Books of Chaman, Burman and Aman
Journal
Date Particulars L.F | Dr.Amount | Cr.Amount
4 4
2023 (i) 1
March 31 | Profit & Loss A/c Dr 1,20,000
To Profit & Loss Appropriation A/c 1,20,000
(Net profit transferred to Profit & Loss
Appropriation Account)
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2023 (ii)
March 31 | Profit & Loss Appropriation A/c  Dr 1,20,000 1
To Chaman’s Capital A/c 60,000
To Burman’s Capital A/c 40,000
To Aman’s Capital A/c 20,000
(Distribution of profit among partners in
the ratio of 3:2:1)
2023 (iii) 1
March 31 | Chaman’s Capital A/c Dr 24,000
Burman’s Capital A/c Dr 16,000
To Aman’s Capital A/c 40,000
(Deficiency of Aman, met by Chaman
and Burman in the ratio of 3:2)
Alternate combined entry for (ii) & (iii)
Profit & Loss Appropriation A/c  Dr 1,20,000
To Chaman’s Capital A/c 36,000
To Burman’s Capital A/c 24,000
To Aman’s Capital A/c 60,000
(Distribution of profit among partners
after adjustment for guarantee)
=3 marks
18 Q. Madhu, Raj, Atul and Prachi were partners............c.........
Ans.
Books of Madhu, Raj, Atul and Prachi
Journal
Date Particulars L.F | Dr. Amount | Cr. Amount
4 4
2023 General Reserve Alc Dr 1,00,000
April 1 To Madhu’s Capital A/c 30,000
To Raj’s Capital A/c 20,000 1
To Atul’s Capital A/c 40,000
To Prachi’s Capital A/c 10,000
(Distribution of General Reserve in
old profit-sharing ratio)
2023 Raj’s Capital A/c Dr 1,00,000
April 1 Prachi’s Capital A/c Dr 3,00,000 1
To Madhu’s Capital A/c 1,00,000
To Atul’s Capital A/c 3,00,000
(Adjustment for Goodwill on account
of change in profit sharing ratio)
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Working notes:

Calculation of gain/ sacrifice

Gaining Share = New share- Old share
Madhu =1/4 - 3/10 = -1/20 (Sacrifice)
Raj =1/4-2/10 = 1/20 (Gain)
Atul = 1/4- 4/10 =-3/20 (Sacrifice)
Prachi =1/4-1/10 = 3/20 (Gain)

=3 marks

19

Q. (a) Priti Ltd. purchased assets.............ccceeververueenen.
Ans.
Books of Priti Ltd.
Journal

Date Particulars

L.F

Dr. Amount
4

Cr. Amount
4

(i)Sundry Assets Alc Dr.
Goodwill Alc Dr.
To Sundry Liabilities A/c
To Payal Ltd.
(Assets acquired and liabilities taken over
from Payal Ltd.)

(if)Payal Ltd. Dr.
To Bank Alc
To 10% Debentures Alc

To Securities Premium A/c
(Amount of purchase consideration settled

through issue of cheque and 2,400, 10%
Debentures at a premium of 10%)

Alternatively,

(i)(a) Payal Ltd. Dr.
To Bank Alc

(Amount of purchase consideration paid by

cheque)

(i)(b) Payal Ltd. Dr.
To 10% Debentures Alc
To Securities Premium A/c
(Balance amount of purchase consideration
settled through issue of 2,400, 10%
Debentures at a premium of 10%)

5,40,000
1,08,000

5,28,000

2,64,000

2,64,000

1,20,000
5,28,000

2,64,000
2,40,000
24,000

2,64,000

2,40,000
24,000

=3 marks
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Q. (b) Dhatu Ltd. invited applications.............ccccceevvrrurennn.
Ans.
Books of Dhatu Ltd.
Journal

Date Particulars L.F

Dr. Amount
4

Cr. Amount
4

(i)

Bank A/c Dr.
To Debenture Application and Allotment A/c

(Receipt of application money on 5000, 11%

Debentures of 100 each issued at a premium of

%50 per Debenture)

(ii)
Debenture Application and Allotment A/c Dr.
To 11% Debentures Alc
To Securities Premium A/c
To Bank Alc
(Transfer of Debenture application money to
Debentures account, Securities premium account
and balance refunded)

Alternatively,

(ii) (a)

Debenture Application and Allotment A/c Dr.
To Bank Alc

(Refund of excess application money)

(ii) (b)

Debenture Application and Allotment A/c Dr.
To 11% Debentures Alc
To Securities Premium Alc

(Transfer of Debenture application money)

7,50,000

7,50,000

1,50,000

6,00,000

7,50,000

4,00,000
2,00,000
1,50,000

1,50,000

4,00,000
2,00,000

OR

=3 marks

20

Q. On 1t April 2023, the books of @ ........cccccceeiiviiicieenene.
Ans. Goodwill =No. of years’ purchase X Super Profits
%4,00,000 =5 X Super Profits
Super Profits = 80,000
Capital Employed= Total Assets- Outside Liabilities
=%9,00,000- Nil=1%9,00,000
Normal Profit =8% of ¥9,00,000 =X72,000

Super Profit= Average Profit - Normal Profit
80,000 = Average profit - *72,000
Average Profit =31,52,000

=3 marks
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21 Q. Aditi, Renu and Varsha were partners............c.cccecveruennenn
Ans.
Books of Aditi, Renu and Varsha
Dr. Varshas’s Capital A/c Cr.
Particulars Amount Particulars Amount
4 4
To Varsha’s Executor’s Alc (%) | 6,41,000 | By Balance b/d (*2) | 3,00,000
By General Reserve Alc (%) 50,000
By Aditi’s Capital A/c (%) 81,000
By Renu’s Capital A/c (%) 54,000
By Interest on Capital A/c (%2) 6,000
By Profit & Loss Suspense A/c | 1,50,000
1)
6,41,000 6,41,000
=4 marks
Working Notes:
1. Calculation of Goodwill
Firm’s Goodwill= 3x90,000= 2,70,000
Varsha’s share of Goodwill= 2,70,000 x 5/10=2%1,35,000
2. Calculation of Profit:
Profit=12,00,000/ 60,00,000 x 15,00,000=X 3,00,000
Varsha’s share of Profit= 3,00,000 x 5/10=3%1,50,000
Note: No marks to be awarded for the working notes.
22 Q. RR Ltd. was registered with............ccccooceiirnnnnn
Ans.
RR Ltd.
Balance Sheetasat __ (An Extract)
Particulars Note Amount (%)
no.
Equity and Liabilities
1. Shareholders’ Funds 1
(@) Share Capital 1 3,90,000
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Notes to Accounts:-

Particulars Amount (%)
1. Share Capital:
. . 1
Authorised Capital
80,000 Equity shares of 10 each 8,00,000
Issued Capital 1
40,000 Equity shares of 10 each 4.00,000
Subscribed Capital
e Subscribed and fully paid up o
38,000 Equity shares of 10 each 3,80,000
e Subscribed but not fully paid up
2,000 Equity shares of 10 each, fully called up 20,000 2
Less: Calls in arrears (2000 x 5) (10,000) 10,000
3,90,000
=4 marks
23 Q. Pass necessary journal entries for ...........cccooevvveiviienen,
Ans.
) Books of Suhavo Ltd.
i
Journal
Date Particulars L.F | Dr. Amount Cr. Amount
4 4
Bank Alc Dr. 9,00,000
To Debenture Application and Allotment A/c 9,00,000 1
(Receipt of application money on 10,000, 11%
Debentures of *100 each at a discount of 10%)
Debenture Application and allotment A/c  Dr. 9,00,000
Loss on issue of Debentures A/c Dr. 1,50,000
To 11% Debentures Alc 10,00,000
To Premium on redemption of Debentures A/c 50,000
(Transfer of Debenture application money and 1
provision for premium on redemption of
Debentures made)

CBSE_MS (2023-24)

67/2/3

Page 10 of 23



http://en.wikipedia.org/wiki/File:Indian_Rupee_symbol.svg

(i)

(iii)

Alternatively,

Debenture Application and Allotment A/c  Dr.
Discount on issue of Debentures A/c Dr.
Loss on issue of Debentures A/c Dr.
To 11% Debentures Alc
To Premium on redemption of Debentures A/c
(Transfer of debenture application money and
provision for premium on redemption of

Debentures made)

9,00,000
1,00,000
50,000

10,00,000
50,000

Books of Mudit Ltd.

Journal

Bank A/c Dr.
To Debenture Application and Allotment A/c

(Receipt of application money on 20,000, 9%

Debentures of X100 each at premium of 5%)

Debenture Application and Allotment A/c  Dr.
Loss on issue of Debentures A/c Dr.

To 9% Debentures A/c

To Securities Premium A/c

To Premium on redemption of Debentures A/c
(Transfer of Debenture application money and
provision for premium on redemption of
Debentures made)

21,00,000

21,00,000
2,00,000

21,00,000

20,00,000
1,00,000
2,00,000

Books of Sudip Ltd.

Journal

(iii)(a)

Bank A/c Dr.
To Debenture Application and Allotment A/c

(Receipt of application money on 30,000, 8%

Debentures of 100 each)

(iii)(b)
Debenture Application and Allotment A/c  Dr.
Loss on issue of Debentures A/c Dr.
To 8% Debentures Alc
To Premium on redemption of Debentures A/c
(Transfer of Debenture application money and
provision for premium on redemption of
Debentures made)

30,00,000

30,00,000
1,50,000

30,00,000

30,00,000
1,50,000

=6 marks
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24 Q. Pass the necessary journal............ccccoeeveveiievvcnenne.
Ans.
Books of Sharma and Verma
Journal
Date Particulars L.F | Dr. Amount | Cr. Amount
4 4
(i) Realisation Alc Dr. 34,000
To Sharma’s Capital A/c 34,000
(Payment to creditors by Sharma)
(ii) Realisation A/c Dr. 80,000
To Verma’s Capital A/c 80,000
(Wife’s loan taken over by Verma)
(iii) Verma’s Capital A/c Dr. 2,400
To Realisation Alc 2,400
(Old typewriter taken over by Verma)
(iv) Cash/ Bank Alc Dr. 1,200
To Realisation Alc 1,200
(Payment received from bad debt written
off in the previous year)
(v) Realisation A/c Dr. 8,000
To Sharma’s Capital A/c 8,000
(Dissolution expenses paid by Sharma)
(vi) Sharma’s Capital A/c Dr. 24,000
Verma’s Capital A/c Dr. 16,000
To Realisation Alc 40,000
(Loss on realisation distributed between
partners in the ratio 3:2) 1x6
=6 marks
25 Q.(a) Sanju and Manju were partnersinafirm...........ccc......
Ans. Dr. Revaluation A/c Cr.
Particulars Amount | Particulars Amount
T T
To Furniture Alc (Y2) 6,000 | By Investments A/c (%2) 12,000
To Profit transferred to Partners’
Capital Accounts: %2)
Sanju 3,600 1%
Manju 2,400 6,000
12,000 12,000
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Dr. Partners’ Capital A/c Cr.
Particulars Sanju Maniju Uday Particulars Sanju Maniju Uday
i % i T i i
To Plant & 48,000 32,000 - By Balance b/d (¥2) 1,40,000 1,20,000 -
Machinery (%2) By Cash Alc (1) - - 78,667
To Balance c/d 1,25,600 1,10,400 78,667 | By Premium for
) Goodwill Alc (1) 6,000 4,000
By Revaluation
Alc (%) 3,600 2,400
By General Reserve
Alc (%) 24,000 16,000
4
1,73,600 1,42,400 78,667 1,73,600 1,42,400 78,667
Working notes:
Calculation of Uday’s Capital: =6 marks
Combined capital of Sanju and Manju= 1,25,600+ 1,10,400=%2,36,000
Capital brought by Uday= 2,36,000 X 4/3 X 1/4 =X78,667
Note: No marks to be awarded for the working notes.
OR
OR
25 Q.(b) Ravi, Tanu and Sara were partners............ccccceeeverueennn.
Ans.
Dr. Revaluation A/c Cr.
Particulars Amount Particulars Amount
T T
To Provision for doubtful 10,000 | By Creditors Alc (%) 4,000
debts Alc ) By Loss transferred to Partners’
To Fixed Assets Alc (%) 5,000 | Capital Accounts: (%)
Ravi 5,500 2
Tanu 3,300
Sara 2,200 11,000
15,000 15,000
Dr. Partners’ Capital A/c Cr.
Particulars Ravi Tanu Sara Particulars Ravi Tanu Sara
7 T T T T T
To Revaluation A/c (¥2) 5,500 3,300 2,200 | By Balance b/d  (%2) 80,000 | 1,24,000 66,000
To Ravi’s Capital A/c By Tanu’s
(%) - 16,000 | 64,000 | Capital Alc 16,000
To Ravi’s Loan A/c (1) | 2,39,500 - - By Sara’s (%2)
To Balance c/d (*2) - 1,55,700 33,800 | Capital Alc 64,000 - -
By Profit & Loss A/c 85,000 51,000 34,000 4
(*2)
2,45,000 | 1,75,000 | 1,00,000 2,45,000 | 1,75,000 | 1,00,000
=6 marks
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Working Notes:

Gaining Share= New share - Old share
Tanu = 2/5-3/10 = 1/10 (Gain)
Sara =3/5-2/10 =4/10 (Gain)
Gaining ratio of Tanu & Sara=1: 4

Note: No marks to be awarded for the working notes.

26

Q.(a) Pass necessary journal entries...........ccccooevvereiiveseanens

Ans.
(1) Books of Star Ltd.
Journal
Date Particulars L.F | Dr. Amount Cr. Amount
4 4
Share Capital Alc Dr. 6,40,000
Securities Premium A/c Dr. 80,000
To Share Forfeiture A/c 1,60,000
To Calls in arrears Alc 5,60,000
(8,000 shares forfeited for non-payment
of allotment and 1% call money)
Alternatively,
Share Capital A/c Dr. 6,40,000
Securities Premium A/c Dr. 80,000
To Share Forfeiture A/c 1,60,000
To Share Allotment A/c 3,20,000
To Share First Call Alc 240,000
(8,000 shares forfeited for non-payment
of allotment and 1% call money)
Bank Alc Dr. 4,20,000
Share Forfeiture A/c Dr. 60,000
To Share capital Alc 4,80,000
(6,000 shares reissued @ %70, X80 paid
up)
Share Forfeiture A/c Dr. 60,000
To Capital Reserve A/c 60,000
(Gain on reissue of 6,000 shares
transferred to capital reserve)
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(ii)

Books of Premier Ltd.

Journal

Date

Particulars

L.F

Dr. Amount
4

Cr. Amount
4

Share Capital A/c
To Share Forfeiture A/c
To Calls in arrears Alc
(3,000 shares forfeited for non-payment
of 1%t call money)

Dr.

Alternatively,
Share Capital A/c
To Share Forfeiture Alc
To Share First Call Alc
(3,000 shares forfeited for non-payment
of 1% call money)

Dr.

Bank A/c
To Share Capital A/c
To Securities Premium A/c

(2,000 shares reissued for 12 per share,
X8 paid up)

Dr.

Share Forfeiture A/c Dr.
To Capital Reserve Alc

(Gain on reissue of 2,000 shares
transferred to capital reserve)

24,000

24,000

24,000

10,000

15,000
9,000

15,000
9,000

16,000
8,000

10,000

AnS.

Q.(b) Zee Itd. invited applications

Books of Zee Ltd.

Journal

Date

Particulars

L.F

Dr. Amount
4

Cr. Amount
4

Bank A/c

To Share Application A/c
(Application money received on 60,000
shares)

Dr.

Share Application A/c Dr.
To Share Capital A/c
To Share Allotment A/c
To Bank Alc
(Application money transferred to share
capital A/c, excess money received

adjusted towards allotment and refunded)

2,40,000

2,40,000

2,40,000

1,60,000
32,000
48,000

=6marks

OR

Yo
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Share Allotment A/c Dr. 2,00,000
To Share Capital A/c 1,20,000
To Securities Premium A/c 80,000
(Amount due on allotment)

Bank A/c Dr. 1,63,800
Calls in arrears Alc Dr. 4,200

To Share Allotment A/c 1,68,000
(Allotment money received, except on
1,000 shares)

Alternatively, 1

Bank A/c Dr. 1,63,800

To Share Allotment A/c 1,63,800
(Allotment money received, except on
1,000 shares)

Share Capital Alc Dr. 7000
Securities Premium Alc Dr. 2000
To Share Forfeiture A/c 4800
To Calls in Arrears A/c 4200
(1,000 shares forfeited for non-payment of 1
allotment money)

Alternatively,

Share Capital A/c Dr. 7,000

Securities Premium A/c Dr. 2,000
To Share Forfeiture A/c 4,800
To Share Allotment A/c 4,200

(1,000 shares forfeited for non-payment of
allotment money)

Share First Call A/c Dr. 78,000

To Share Capital Alc 78,000 1
(Amount due on First and final call on
39,000 shares)

Bank Alc Dr. 78,000

To Share First Call Alc 78,000 Y
(First call money received, except on 1,000
shares)

=6 marks
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PART-B

OPTION-I

(ANALYSIS OF FINANCIAL STATEMENTYS)

27 Q. ‘Paid %5,00,000 to acquire Shares............ccccccoecvvvevivereciesnenn,
Ans. (D) Cash outflow from investing activities ¥4,70,000 1 mark
28 Q. (i) Statement I: Issue of Debentures..........c..cccocevvvervenenne.
Ans. (C) Statement | is correct and Statement 11 is incorrect. 1 mark
OR OR
Q. (ii) What will be effect of ..o,
1 mark
Ans. (A) No effect
29 Q. Current ratio of Super Ltd. .......c.ccooevvvvvenrennne.
Ans. (C) Repayment of long-term loan of 27,00,000 1 mark
30 Q.(i) Which of the following........ccccceeeiiieiieiiiiiccee,
Ans. (C) To consider the impact of price level changes. 1 mark
OR OR
Q.(i) IS also Known as...........ccocevevvviininnne. 1 mark
Ans. (B) Quick Ratio
31 Q. Classify the following items under major.........ccccecevvenenne.
Ans.
S.No. Items Heads Sub Heads
Q) Livestock Non-Current Assets Fixed Assets-Tangible Assets/
Property, Plant & Equipment &
Intangible Assets - Property,
Plant & Equipment
(i) Accrued Income Current Assets Other Current Assets
(iii) | Unpaid Dividend | Current Liabilities Other Current Liabilities 72 X6
=3 marks
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32

Q. From the following information..........c...cccccoveeeneee
Ans.
Gross Profit Ratio= Gross Profit / Revenue from Operations X 100.......................... (%2)

Revenue from Operations =% 10,00,000
Gross Profit= Revenue from operations- Cost of revenue from operations

Cost of revenue from operations= Opening inventory + Net Purchases + Direct expenses —
Closing inventory
= Decrease in inventory + Net Purchases + Direct expenses
= 340,000 + %2,80,000 + (X50,000 + %60,000)

=34,30,000. ... .0t (1)
Gross Profit =310,00,000 - ¥4,30,000
=T5,70,000 0. e e 1)
Gross Profit Ratio=5,70,000/ 10,00,000 X 100=57%0........ccu cevieereiiierereieneiieen, (¥2)
=3 marks
33 Q.(a) From the following information, .........ccccccceeueee.
Ans.
Comparative Statement of Profit and Loss
for the year ended 315t March 2023
Particulars Note | 2021-22 | 2022-23 | Absolute | Percentage
No. Increase/ | Increase/
Decrease | Decrease
i ] % %
l. Revenue from Operations 2,00,000 | 4,00,000 | 2,00,000 100 (2)
I1. Other Income 40,000 80,000 40,000 100 (*2)
I11. Total Revenue (1+ 1) 2,40,000 | 4,80,000 | 2,40,000 100 (¥2)
IV. Expenses:
Employees Benefit Expenses 1,00,000 | 2,00,000 | 1,00,000 100 1)
V. Profit before tax (I1I- 1V) 1,40,000 | 2,80,000 | 1,40,000 100 (*2)
VI. Less: Tax @ 50% 70,000 1,40,000 70,000 100 %)
VII. Profit after tax (V- VI) 70,000 1,40,000 70,000 100 (*)
=4 marks
OR OR
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Q. (b) Prepare a ‘Common Size Statement

AnSs.

Common Size Statement of Profit and Loss of Neurosci Ltd.

For the year ended 31%t March 2022 & 315t March 2023

Particulars Note | Absolute amounts (%) % of Revenue from
No. Operations
2021-22 2022-23 | 2021-22 2022-23
I. Revenue from Operations 20,00,000 | 40,00,000 100 100 (*)
I1. Expenses:
Purchase of stock in trade 2,00,000 | 4,00,000 10 10 ()
Other expenses 20,000 40,000 1 1 (*2)
I11. Profit before tax (I- 1) 17,80,000 | 35,60,000 89 89 1)
IV. Less: Tax @ 50% 8,90,000 | 17,80,000 44.5 44.5 (1)
V. Profit after tax (111- 1V) 8,90,000 | 17,80,000 44.5 44.5 %)
=4 marks
34 Q. From the following Balance Sheet............cccccooeiiniiciiiennn
Ans.
Nishant Ltd.
Cash flows from Operating Activities
Particulars Amount | Amount
4 4
Net Profit before Tax & Extraordinary items 75,000
Adjustment for non-cash and non-operating items:
Add: Depreciation on machinery 33,000
Loss on sale of machinery 1,000
Interest on debentures (2 8,500
Goodwill written off 36,000
5
Operating Profit before Working Capital changes 1,53,500
Less: Decrease in Trade Payables (12,500)
Increase in Inventories } (1) (4,000)
Increase in Trade Receivables (13,500)
Cash generated from Operations (¥2) 1,23,500
Less: Tax paid (¥2) (38,500)
Net Cash Inflows from Operating Activities (%) 85,000
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Calculation of Net Profit before Tax and Extraordinary items:

1
Net Profit for the year = 50,000
Add: Provision for Tax = 25,000
Net Profit before Tax & Extraordinary items = 75,000
=6 marks
Working Notes:
Dr. Accumulated Depreciation A/c Cr.
Particulars 4 Particulars 4
To Machinery Alc 8,000 | By Balance b/d 75,000
To Balance c/d 1,00,000 | By Depreciation Alc 33,000

(Balancing Fig.)

1,08,000 1,08,000

Note: No marks to be awarded for the working notes.
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PART-B
OPTION-I1
(COMPUTERIZED ACCOUNTING)

27 Q. The process of comparing ........cccvvevevnrennnnenns
Ans. (C) Data validation 1 mark
28 Q. (i) From the following, ........cccccvvviiieiiniennnnnnns
Ans. (C) Details the data value and categories below the chart. 1 mark
OR OR
Q. (ii) How many logical values ..........ccccevveviinnnnnn.
Ans. (C) 255 1 mark
29 Q. ‘Data, people , and.....ccovveiiiniinnnns
1 mark
Ans. (A) Procedures and Hardware
30 Q. (i) “‘Sales and Accounts Receivable.........cccvvevevninennnnne . .
Ans. (B) Recording and maintaining the sales ledger and receivables. mar
OR OR
Q. (ii) A Null value is a ....covvvviiiinniiiiinniicinrecnnnes
Ans. (C) Absence of data items 1 mark
31 Q. What is meant by ‘resizing of .........ccceeeevievineinnnnne.
Ans.
Resizing of chart means changing size of the chart as desired. This option can be used 1
independently for the fonts, title, legends easily.
It can be done by: )
o Firstly select the chart by clicking the left button of the mouse.
e Move the cursor on the corner or middle of the borders of the chart.
e By pressing the left button and drag/pull as desired to resize the chart.
=3marks
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32

Q. State any three limitations..........cccccevviiiniinnns
Ans.
Following are the limitations of CAS: (Any three)

Faster obsolescence of technology necessitates investment in shorter period of time.
Data may be lost or corrupted due to power interruption.

Data may be prone to hacking.

Unprogrammed and unspecified reports cannot be generated.

NS

1x3
=3marks

33

Q. (a) What is meant by accounting .........ccccuvenenes
Ans.

Meaning: The accounting cycle means the process involved in identifying, measuring, and
communicating the accounting information.

The basic phases of this cycle are as follows:

Business transactions are analysed.

The transactions are recorded in Journal.

Journal entries are posted to ledger accounts.

A trial balance is prepared from the balances of accounts.

Accounts are reviewed and necessary adjustments are made.

Adjustments are posted in the ledger to prepare adjusted trial balance.

Adjusted Trial balance is used to prepare the balance sheet and profit and loss account.
Financial statements are prepared from the finally adjusted ledger and balancing
accounts.

OR

Q. (b) What is ‘data formatting’?.........cccecerereuercscerccsunnes
Ans.

Data formatting refers to setting up spreadsheet in such a way that the user of the information
can read and understand the information easily and quickly.

Several tools and shortcuts are available to format spreadsheet effectively.

Following are the tools to format data:
1. Number formatting:

e Itincludes adding %, decimal places, currency signs, date, time, scientific values
etc.

e Various number formats are available.

Special format category- for which one has to select ‘Special’ from category option.

Changing cell colours

Adding text formatting

Changing font size

Changing cell borders

SR

=4 marks

OR

Y% X 6=3

=4 marks

CBSE_MS (2023-24) 67/2/3 Page 22 of 23




34 | Q. Write the Steps t0 create.......cceuueeenerneennennnen.

Ans.

Following will be the steps to create ‘IF’ function using formula tab and dialogue box.

Select the cell where the saving % is to be shown say F4. 5

Click at the formula tab on the ribbon and click logical option.

Select ‘IF Function’ which will provide function arguments dialogue box.

Type an appropriate condition in the logical _test box.

In the value_if true box, type the required value (Here it is 100%) if logical condition test

IS met.

In the value_if false, type the value if logical test condition is not met. (Here it is 5%)

7. Click OK, the answer for the condition will be displayed in F$. Copy the function from
F4 cell to rest of F column till you want to calculate.

agsrwONE

1S

In the formula the syntax will be
= If(F4>10000, 10%, 5%) L

=6 marks

FhAkAAAAEAAkAAAkAAAhkAArAhkhrhkhkihhkhkihkhkhhkhkihhkihhihiiiiiiixkx
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